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             SET-I                                                          Max Marks:70

	Q1
	Answer the following questions:

	
	(a)
	(i) Name a network to connect computers and other devices in a relatively small space.
(ii)A bank is planning to link its branches situated in various parts of the same city which type of network will be formed?
	1

	
	(b)
	(i)What is mean by sites Identification on Internet.
(ii)Most common communication protocol on Internet.
	1

	
	(c)
	(i)Mr Ram is interested in transferring songs from his mobile to Mr Shyam’s mobile. Suggest two suitable wireless options he may use for doing the same.
(ii)How is bandwidth measured on analog circuits and digital.
	1

	
	(d)
	Expand the following Terms: 
(i) FlOSS       (ii)    FSF    (iii) FQDN   (IV) DHCP
	1

	
	(e)
	[image: image2.png] The Great Britain Organisation has set up its new Branch at Srinagar for its office and web      based activities. It has 4 wings of buildings as shown in the diagram :
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	(i)
	Suggest the most suitable cable layout of connections between the Wings, and topology
	1

	
	(ii)
	Suggest the placement of the following devices with justification:


         


(1) Repeater 

(2) Hub / Switch
	1

	
	(iii)
	The organization is planning to link its head office situated in Delhi with the offices at Srinagar. Suggest an economic way to connect it; the company is ready to compromise on the speed of connectivity. Justify your  answer.
	1

	
	(f)
	(i)  What type of address is the following ? Also define it.

                                20 : B9 : F1 : 63 : 2F : FB

(ii) What for are these software used?

           (a) Apache      (b)   PHP
	1

	
	
	1
	

	
	(g)
	Identify the topologies from the following.
(i) In it the nodes form a circular path for data to travel and each node is connected to two other nodes.

(ii) It consists of a central node to which all other nodes are connected by a single path. 
	1

	
	(h)
	(i)  Which of the following are the Open Source:
         Linux,MS Windows 7,photoshop,Mysql

(ii) Which of the following are the open standards
.orgg   .DOC     .SVG    .TTF    .JPEGk
	1

	Q2
	Answer the following questions

	
	(a)
	(i) By default ,a combo box does not offer editing features .How would you make a combo box editable?
(ii) How would you set a label to have both an image as will as text?
	1

	
	(b)
	What is the purpose of
(i) Default clause in switch statement

(ii) Break statement in a loop.
	1

	
	(c)
	Which HTML tags are used to

(i) Insert a horizontal rule.

(ii) To format the text as a paragraph.  

	1

	
	(d)
	Consider  the following XML document .Check this for well-formedness. Rewrite it so that it is well formed.

<email>

   <to> Mrs  joshi

  <body>  hello  </to>

  </body>

   <sender>Smriti</Sendr>

</Email> 
	1

	
	(e)
	Write a function in java that takes temperature of a city in Fahrenheit as parameter and returns this temperature after converting it into centigrade degress.
	2

	
	(f)
	Compare  HTML and XML.
	2

	
	(g)
	Name the methods to obtain following type of data from a result set.
(i) Float data            (ii)   Date data
	1

	
	(h)
	(i) What will be the value of a and b after execution of following code:
int a=1,b=2;

if(++b<5)

{

    a*=b;

}

l1.setText(""+a+","+b);
	1

	
	
	(ii) To make sure that TF1 text field must not be zero or less than zero, which event handler should we use to write the code.
	1

	Q3
	Answer the following questions

	
	(a)
	What must exist on the parent table before MySQL  will allow you to create a Foreign Key constraint from a child table?
	1

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	2
	

	
	(b)
	Given following CREATE TABLE command, Identify constraints and their complete details.

Create table Lego_Composer
(

   construction int(11) not null,

   brique int(11) not null,

   nombre integer not null default 1,

   constraint construction_composer FOREGIN KEY (construction)

   REFERENCES Lego_Construction(id)

  On delete restrict
  On update cascade,

Primary key(construction,brique))
	1

	
	(c)
	Write down a command to view the constraints of a table ‘BANK’.
	1

	
	(d)
	Name the clauses for the following:
(i) To display the record in specified range.

(ii) To display the record according to the given pattern.
	1

	
	(e)
	Name the commands for the following:

(i) To change the row of a table.
(ii) To make the column of a table unique
	1

	
	(f)
	What is transaction? Which statement is used to disable or enable the transaction?
	2

	
	(g)
	A table ACCOUNT in a database has 7 columns and 30 rows. Another 20 rows are added to the table, but out of that 10 rows have null value for the column balance. What is the degree and cardinality of this table now ?   
	1

	
	(h)
	A database Mydb contains three tables namely student,class,marks.To delete all the tables and database , following set of command is issued, but it generates errors . What could be the problem?
DROP DATABASE Mydb;

DROP TABLE student;

DROP TABLE class;

DROP TABLE marks;
	2

	Q4
	(a)
	What is the difference between protected and private members?
	1

	
	(b)
	Assume a class Derv derived from a base class Base.Both classes contain a member function func() that takes no arguments. Write the definition for both the classes and for a member function of Derv that calls both the func()s. 
	2

	
	(c)
	Rewrite the following code using if..else if without effecting the output of the code:

switch(per)

{

  case 90  :     System.out.println(“A1”);    break;

  case 80  :     System.out.println(“A2”);    break;

  case 70 :    System.out.println(“B1”);    break;

 case 60   :      System.out.println(“B2”);    break;

  case 50  :     System.out.println(“C1”);    break;

  default   :      System.out.println(“D1”);    break;

}
	1

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	3
	

	
	(d)
	Find out the output:

(i) private void jButton1ActionPerformed(java.awt.event.ActionEvent evt) {

                   Sample x = new Sample();

                  x.get(5);

                  x.display();}

                 class Sample{

                  int i;

                 void get(int a){

                  i=a;

                   }

                void display(){

                    label1.setText(""+i+"  "+ ++i);

                     }}

(ii)        int  i=3,n=0;

while (i<4){

n++;i--;

}

System.out.println(n); 

(iii)   if(“string”.toString()==”string”)

                System.out.println(”Equal”);

                else

               System.out.println(”Not Equal”);

(iv)

(a) System.out.println(”pow(2.0,2-0) is”+Math.pow(2.0,2.0));

(b) String name1 = “Computer”;

              String name2 =name1.substring(0,name1.length());    
             System.out.println(name2) ;
	4

	
	(e)
	The following code has some error(s). Rewrite the correct code underlining all the corrections

made:

int Num=6;

Int Temp=Num

while  Num>=1

{  Temp=Temp-1;

  if (Temp% 2= 0) 

    System.out.println(" is Even");

  else

   System.out.println(’is Odd’);

  Num=Num-2;

}
	1

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	4
	

	
	(f)
	How many times the body of loop will be excuted?

int x,y,;

x=5;y=50;

while(x<=y){

    y=y/x;

    System.out.println(y); }    
	1

	
	(g)
	Read the following case study and write a java code to answer the questions that following.
	

	
	
	Manager of Bachat Bank has developed a java form for finding EMI to be paid by customers against repayment of loan. 

Loan interest rates are(Yearly) -
Loan Type                        Interest Rate

Car Loan.                                14.5 %

Personal Loan                         13.25 %

Education Loan                       11.75 %
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Name of the various objects in jframe are:

Object Type

Object Name

Description

JFrame

JFrmEmiCalc

Main Form

Combo Box

jcmbYears

To select Years for Loan

Text Box

jtxtLoanAmt

To enter loan amount

jtxtProcCharge

To enter processing charge 

jtxtRate

To enter interest rate

jtxtEMI

To display EMI payable

Option Button

rbtnCar

To select loan type as Car Loan

rbtnPersonal

To select loan type as Personal Loan

rbtnEducation

To select loan type as Education Loan

Command Button

jcmdCalcEMI

To calculate payable  amount

jcmdClear

To clear the entered values

jcmdExit

To quit form application


	

	
	
	(i) Initially loan type should be set to Car Loan, jtxtRate should be disabled and jcmbYears  should have values 5,10,15, and 20.
	1

	
	
	(ii) If loan amount is less than or equal to 0. It should display an error message “Invalid Amount” and cursor should point to jtxtLoanAmt.  
	1

	
	
	
	

	
	
	
	

	
	
	5
	

	
	
	(iii) When the user clicks the CmdCalcEMI button, the total payable EMI should be calculated and displayed in the jtxtEMI text box. To calculate EMI, firstly calculate compound interest using formula ci=p*(1+r/100)^t. Add compound interest to loan amount  and divide by time    (in months).
	3

	
	
	(iv) Write the code for jCmdExit button to stop the application and  jCmdClear command button to clear all the text boxes, option buttons. Also cursor should point on jtxtLoanAmt test box.
	1

	Q5
	(a)
	Differentiate between CHAR and VARCHAR datatype.
	1

	
	(b)
	Find out the output:

(i)     SELECT ROUND(-124.44)+MOD(1200.87,3);

(ii)     SELECT DAYNAME(SYSDATE());

(iii)     SELECT LEFT(‘INFORMATICS’,4);  

(iv)     SELECT INSTR(‘INFORMATICS’,’A’);  


	2

	
	(C)
	Consider the table Shop given below. Write commands in SQL for (i) to (v)(1 MARK EACH) and output for (vi) to (ix)(1/2 MARK EACH).

No 

Shop_name

Sale

Area

Cust_Percent

Rating

City

1

West Side

250000

West

68.6

C

Delhi

2

Pantaloons

500000

South

81.8

A

Chennai

3

Sir’s & Her’s

300000

North

79.8

B

Amristar

4

Sports King

380000

North

88.0

B

Baroda

5

Adidas

456000

East

92.0

A

Delhi

6

Big Bazar

290000

South

66.7

A

Kolkota


	7



	
	(i)
	To display the names of all shops which are in the area South.
	

	
	(ii)
	To display list of all the shops with sale >300000 in ascending order of Shop_Name
	

	
	(iii)
	To display a report with Shop_Name,Area and Rating for each shop in the table,for only those shops whose sale is between 350000 and 400000. 
	

	
	(iv)
	To display the city along with sum of sale for each city.
	

	
	(v)
	To display all the columns where rating is A in the ascending order of area.
	

	
	(vi)
	Select Min(Cust_Percent) from shop;
	

	
	(vii)
	Select Sum(sale) from shop where rating = ‘A’;
	

	
	(viii)
	Select Avg(Sale) from shop where City=’Delhi’; 
	

	
	(ix)
	Select count(distinct Citys) from shop;
	

	
	(d)
	Compare MODIFY and CHANGE clause of ALTER TABLE statement. 
	1

	
	(e)
	What are the different types of SQL function
	1

	Q6
	(a)
	Create table Student as per the specifications given below:

Column Name

Type

Length

Constraint

Ecode

Integer

5

Primary Key

Name

Varchar

25

NOT NULL

Sex

char

1

Not null Default M

Hiredate

Date

Job

Varchar

30

Not null

Sal

decimal

10

>=10000

Deptno

int

6

Foreign key =>Dept(no)


	2

	
	
	
	

	
	
	6
	

	
	(b)
	In a database there are two tables ' Student ' and 'Marks' as shown below:

                     Sender                                                                                                   Recipient

Sid

Sname

Saddress

SCity

Rid

Sid

Rname

N1

R Jain

2,ABC Rd

Delhi

K5

N1

R Bajpayee

M2

H Sinha

!2,Newtown

Mumbai

N8

N8

S Mahajan

M15

S Jha

12/3,MG rd

Mumbai

N50

T Prasad

122 ,SDA

Delhi


	2

	
	
	(i) How many rows and how many columns will be there in the Natural join of these two tables?

(ii) Which column in the ‘Recipient' table is the foreign key?
	

	
	(c)
	Consider the tables ‘DOCTOR’ and ‘SALARY’ given below. With reference to these tables, Write commands in SQL for (i) and (ii) and output for (iii)below:
	3

	
	
	                    DOCTOR                                                                                                          SALARY                                                                                                                                                                                      

No

NAME

DEPT

SEX

EXPERIENCE

301

Raj

ENT

M

12

799

Rohan

ORTHEPEDIC

M

5

101

Maria

CARDIOLOGY

M

10

302

Mathew

ENT

F

3

No

BASIC

ALLOWANCE

FEES

101

12000

1000

300

799

23000

2300

400

701

32000

4000

500

301

12000

5200

100

(i)  Display the average salary of all the doctors working in”ENT” department.

(ii)  Display the minimum allowance of female doctors.

(iii)  Select NAME ,BASIC,ALLOWANCE 

            FROM DOCTORS,SALARY

            WHERE FEES>=500 AND DOCTOR.NO=SALARY.NO;  
	

	Q7
	(a)
	How does e-commerce helpful to the customer?
	1

	
	(b)
	Difference between front end and back end.
	1

	
	(c)
	Identify the type of relationship from the following and also show them diagrammatically.

‘A School consists of a number of specialized Departments. ’
	1

	
	(d)
	What controls would you suggest for following types of input?

(i) Typed text

(ii) One out of several choice

(iii) List multiple values

(iv) A mouse click


	2
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